*******************************************************************************

****** test2 schematic project_1_TT <vs> test2 layout project_1_TT

*******************************************************************************

Pre-expand Statistics 

====================== Original 

Cell/Device schematic layout

(pfet) MOS 2 20*

(ind, _) Generic 2 0*

(nfet) MOS 5 35*

(cmim2) CAP 2 2

(rppoly_lo, _) RES 5 0*

------ ------

Total 16 57

Reduce Statistics

================= Original Reduced

Cell/Device schematic layout schematic layout

(nfet) MOS 5 35* 5 5

(pfet) MOS 2 20* 2 2

(rppoly_lo, -) RES 5 -* 5 -*

(cmim2) CAP 2 2 2 1*

(ind, -) Generic 2 -* 2 -*

Match Statistics

================ Total Unmatched

Cell/Device schematic layout schematic layout

(nfet) MOS 5 5 0 0

(pfet) MOS 2 2 0 0

(rppoly_lo, -) RES 5 -* 5 -*

(cmim2) CAP 2 1* 1 0*

(ind, -) Generic 2 -* 2 -*

------ ------ ------ ------

Total 16 8 8 0

Match Statistics for Nets 13 7 6 0

========================================================================[test2]

====== Bad Initial Net Bindings (nets don't match) ============================

===============================================================================

= = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = (badbind 1)

Schematic Net: gnd!

S *1 of rppoly_lo {PLUS MINUS sub}

S 2 of nfet {D S}

S 5 of nfet B

Layout Net: gnd!

L *1 of cmim2 sub

L *3 of nfet {D S}

L 5 of nfet B

= = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = (badbind 2)

Schematic Net: vdd!

S *2 of ind {P1 P2 sub}

S 2 of pfet {D S}

S 2 of pfet B

Layout Net: vdd!

L 2 of pfet {D S}

L 2 of pfet B

========================================================================[test2]

====== Unmatched Internal Nets ================================================

===============================================================================

S ?Vc2x

S ?Vc2y

S ?net3

S ?net27

S ?net10

========================================================================[test2]

====== Bad Matched Nets (don't really match) ==================================

===============================================================================

= = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =(badmatch 1)

Schematic Net: Vc1y

S *1 of rppoly_lo {PLUS MINUS sub}

S 1 of cmim2 MINUS

S 1 of nfet {D S}

S 1 of nfet G

Layout Net: avC8

L 1 of cmim2 MINUS

L 1 of nfet {D S}

L 1 of nfet G

= = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =(badmatch 2)

Schematic Net: Vc1x

S *1 of rppoly_lo {PLUS MINUS sub}

S 1 of cmim2 PLUS

S 1 of nfet {D S}

S 1 of nfet G

Layout Net: avC9

L 1 of cmim2 PLUS

L 1 of nfet {D S}

L 1 of nfet G

= = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = =(badmatch 3)

Schematic Net: net7

S *2 of rppoly_lo {PLUS MINUS sub}

S 1 of nfet {D S}

Layout Net: avC7

L *3 of nfet {D S}

========================================================================[test2]

====== Problem Schematic Nets (no exact match in layout) ======================

===============================================================================

S

S ?net3 ?net27 ?net10

S (total 3) with:

S 1 of rppoly_lo {PLUS MINUS sub}

S 1 of nfet {D S}

S

S ?net7

S 2 of rppoly_lo {PLUS MINUS sub}

S 1 of nfet {D S}

S

S ?Vc2x

S 1 of rppoly_lo {PLUS MINUS sub}

S 1 of cmim2 PLUS

S 1 of ind {P1 P2 sub}

S

S ?Vc2y

S 1 of rppoly_lo {PLUS MINUS sub}

S 1 of cmim2 MINUS

S 1 of ind {P1 P2 sub}

S

S ?gnd!

S 1 of rppoly_lo {PLUS MINUS sub}

S 2 of nfet {D S}

S 5 of nfet B

S

S ?sub!

S 5 of rppoly_lo {PLUS MINUS sub}

S 2 of cmim2 sub

S 2 of ind {P1 P2 sub}

S

S ?vdd!

S 2 of ind {P1 P2 sub}

S 2 of pfet {D S}

S 2 of pfet B

S

S ?Vc1x

S 1 of rppoly_lo {PLUS MINUS sub}

S 1 of cmim2 PLUS

S 1 of nfet {D S}

S 1 of nfet G

S

S ?Vc1y

S 1 of rppoly_lo {PLUS MINUS sub}

S 1 of cmim2 MINUS

S 1 of nfet {D S}

S 1 of nfet G

========================================================================[test2]

====== Problem Layout Nets (no exact match in schematic) ======================

===============================================================================

L

L ?avC7

L 3 of nfet {D S}

L

L ?vdd!

L 2 of pfet {D S}

L 2 of pfet B

L

L ?avC9

L 1 of cmim2 PLUS

L 1 of nfet {D S}

L 1 of nfet G

L

L ?avC8

L 1 of cmim2 MINUS

L 1 of nfet {D S}

L 1 of nfet G

L

L ?gnd!

L 1 of cmim2 sub

L 3 of nfet {D S}

L 5 of nfet B

========================================================================[test2]

====== Unmatched Schematic Instances ==========================================

===============================================================================

= = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = (schinst 1)

Schematic Instance: R6 rppoly_lo

S Pin Net

S --- ---

S PLUS ?Vc2y

S MINUS Vc1y

S sub ?sub!

= = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = (schinst 2)

Schematic Instance: R9 rppoly_lo

S Pin Net

S --- ---

S PLUS net7

S MINUS ?net3

S sub ?sub!

= = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = (schinst 3)

Schematic Instance: R7 rppoly_lo

S Pin Net

S --- ---

S PLUS ?Vc2x

S MINUS Vc1x

S sub ?sub!

= = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = (schinst 4)

Schematic Instance: R10 rppoly_lo

S Pin Net

S --- ---

S PLUS ?net27

S MINUS net7

S sub ?sub!

= = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = (schinst 5)

Schematic Instance: R0 rppoly_lo

S Pin Net

S --- ---

S PLUS ?net10

S MINUS gnd!

S sub ?sub!

= = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = (schinst 6)

Schematic Instance: C2 cmim2

S Pin Net

S --- ---

S PLUS ?Vc2x

S MINUS ?Vc2y

S sub ?sub!

= = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = (schinst 7)

Schematic Instance: L3 ind

S Pin Net

S --- ---

S P1 vdd!

S P2 ?Vc2x

S sub ?sub!

= = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = (schinst 8)

Schematic Instance: L2 ind

S Pin Net

S --- ---

S P1 vdd!

S P2 ?Vc2y

S sub ?sub!

========================================================================[test2]

====== Parameter Mismatches for Instances =====================================

===============================================================================

= = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = = (param 1)

Schematic Instance: C3 cmim2

Layout Instance: avD1_1 cmim2

**Capacitor mismatch** layInst: "avD1_1" - c = 1.315e-13, m = 1

schInst: "C3" - c = 5.880e-15, m = 1,

Layout Instance is the merged result of: avD1_1 avD1_2

========================================================================[test2]

====== Summary of Errors ======================================================

===============================================================================

Schematic Layout Error Type

--------- ------ ----------

2 2 Bad Initial Net Bindings

3 3 Bad Matched Nets

5 - Unmatched Internal Nets

8 - Unmatched Instances

1 1 Parameter Mismatches for Instances

